|.L'>/ol.icl;

MATLAB 1331 o5 b (soungs aoliy Givsgol

Saleoow wlewlxo § g9.090

N9 M S0 ¢ yw) Ao

Aa/Y/10 p,lp> acwd>




), =
ol Sujielhlh wgo W ol Blewlxo plil (Sidioow Olewlxo 5l Hghhie v

9 sw ,ehio Sxac




Sk bl

8wl asio e Sl v

59 (s odlaiwlsyms

>> v = x/2

X /Undefinad function or wvariable "x'.

Fx syms H
oy = xn/2

Y:

x/2




subs joiw> B

S swo odlaiwl U KUl o i L Su Sl )lase SO e g jgiwd ol 5l Y

PY VEUTA )l.A.>'l—A.U SUbS(&_JU AU, BU >)90 jusin, b >)90 80 )

)9l Cow x=5 adasi 5 | oouw osly &b Hlase Jline

>F 3ayms x Y
= £ = 2¥n+ytZ;
»>» f=subs=s(f,x,5)

f(x)=2x+y’

f =

y~2 + 10




Y
lg.l.b‘sa_,)_,a\.\asolfwb LY
DBL oae 55 o b g >

: W 9 >b ol gog,9 nl M uLquz.o

LSS eS) s gols
— subs joiw> @

LoLw subs(gsl pU,[xy....], [1.2....])

--L.’.JST Cowd Z=2 g X=1 aasy 55 | oo o3l U lase 1dlie

FF BymE X Z

f(x,z)=x" —sin(x + 2)

>» £ = x*z—-sin(x+z);
>» £ = subs(f, [x,2],[1,2])
f:

1l - =1n(3)




Sk bl

poly2sym ,giww> B
39w oslasiwl Siliow U a4 Sl dlazais Lo G Hgiows il 51 Y
SYMS ,aio £9J
poly2sym(S| alo>di> pU," jasio £94°)

poly2sym(Sl alos>di> pU,sym(asio £94))

DS b Sulioww U au | oo osly Sl ado>ais (Jlio

>> £ = [-2 0 4 1]; >> £ =[-20 4 1];
—_ 3 >> syms t >>» £ = poly2asym(f,sym(t))
£(8) =20 +a4t+ 1 ==b 7 et e, OF

f =
f =

- 2%t"3 + 4%t + 1
- 2%t"3 + 4%t + 1




Sk bl

expand )giw> B
S sw osleiwl skl 9 gulgi loww wp> Heiws ol 5l v

Hgiwd HlisLw: expand(gU)

/(x +y)’ (2x +5)° x(x +D(x +2)

> zyms x v Fx syms > 3yms x
Y = w e =
>> expand ( (x+y)*2) >> £ = (2%x+3)"2; > L ¥ (m+l) ¥ (x+2);
>>» £ = expand(f) >> expand (f)
anz =
£ = ans =

xh2 + 2wy + g2

AT 4 FwxnD 4+ 2w
4%x”3 + 20%x + 25 = ® =



factor jgiw> ™

39 csw osleiwl 58,058 > Heiws ol 5l V

Hgiw> HlisLw: factor(gsb)

/(x3+1) f(x,y)=(x"=y") F(x)=x>+x—-6

*» 3yms x >> ayms X ¥ >> 3yms X
>» factor(x™3+1) > f=(x"3-yv*3); >»> f=x"2+u—6;
=> factori(f) >> f=factor(f)
ans =
ans = £ =

(= + 1)*(x"2 - x + 1)
(x — yv)*(x"2 + x%y + yv"2) (= + 3)¥(x - 2)



Sk bl

pretty joiuw> B
| Jis,90 w)lie Silwly; Sl bad g ads o Giwlos puwgi cowd wyga |y ilgi Heiws ul v

AD> s plxl w)lie g, S3Lw 03l wldoc wgS=d g
8w HlisLw; pretty(g4U)

3 3 3
(x -1 f(x,y)=(x"—-y")
Fr syms X > syms ® Y
»» pretty(factor (x"3+1)) Fr f=(x"3-y"3);
P >> pretty(factoxr(f))
(= + 1) (&2 - = + 1) P P

(= - v) (x +x v + v )



Sk bl

humden giww> B

> wHle 4 39w (s odlaiiwl B> Wi S 20 9 WHgo Awlxe Sl jeiws ¢l 5l V
OB Lsw plil 5,8 S yikiae 2,0 wldoe SoS @ ) S (3,95 9 o> Jols Ggiows ol

Hgiwd HlsLw: [n d]J=numden(gU pU)

sl Gows | 5 Sld,wS gex Jol> 1o

Fx zyms =

>> a = —(1/6)/(s+3)-(1/2)/ (a+1)+(2/3) /s;
>» [n d]=numden (a)

s+3 s+1 s

n —

s + 2 IIl#"}
d:

gs¥(s + 1)* (= + 3)

a(s)=-

s+2
s(s+1)(s+3)




Serlnoow ilwloee

> uwlewo B

v csw oslaw! “limit’ jgiws 5l a5 acwlxo Sy Wlio ;> v
Hgiw> HlisLow: limit( f(x) , x, n,’right’ )

33,5 o ilols left o)lce cright o)le Slaw Vb 5l 5 couz 1> awlzo Sl )aash v
33,5 o0l inf w)le (N osae Sl VU s bw s cculpiw )3 2> acwlxo Sl (YasSs v

)9l Cowu | 00u o3l gulgi a> 1Jliwo

3x+5 |x| x3_x2+x
li lim (— -
lm( ) (x) ?lglgo( 5x3 —3 )

X=2 X x—0~
> ayms X
FF Byms X > syms =
o _ e = N L W DT m

> £ = (3*x+5)/x; »> limit (abs(x)/x,x,0, '1l=fc") f. '[H- 3 1"1.2 x)/ (5¥x"3-3);
> limit (£,x,2) ¥ limit (f,x,1nf)

ans = B
ans — ans =

-1

11/2 1/5




S swo osleswl “diff” jgiws 5l giiue ua.9)§ Sl v

= diff(f) > £(X) b i Al
Lw: 4 diff(f,'y") b Y 2 R
L diff(f.n,’y’) > Yo o A5, 4 Gioa

A0yl w1y 5 &ilgi (gsine tJlio

f(x,)=x"+3xy+y"' > '(y)="? F(x)=(x*+D"7 > £"(x) =2

> ayms X
>» £f=(x"2+1)"17;
>> pretty(diff (£, 2))
2 16 2 2 13
34 (x + 1) + 1088 = (x + 1)

FxF o gyms H Y

P £ = x™a+3%xvy+ryt4;

>> pretty(diff(£f, "v'))
3

4 v + 32 x




y
o e Gl Al By 14355

oolizn) s 5 adasl, )l X=b ,X-2 o5 "

&

:é‘,.u@

,, JLSi] awlxe ™
A=J |f(x) — g(x)|dx )S” '

g0 cswo oslaiwl tint” jgiws )l dl)iul u.aS_S Sl v

fo"

- int(gaU, jasi0) > unals J) S0
29> Hizbwid  int(gal saie, ol 3>, VU 2>) > una J) S0
L int(int(gal, k315 jasi0, Ml 3>, VU A>),oml 3> VU > — G5, ) S

] X esin(x
J4X3dX JH4X3dX J‘u J‘u ( }(X2+y2)d_ydx

= i
el %*_i:rms M >> syms x 5}?‘:_115 f Y A
\ \ > int (4*x"3, x) > £ = x"2+y"Z;

>> i e ' .
int (4*x"3,0,1) >> int(int{ £ , vy , 0 , =sin(x)) , 0 , pi)

ans =
x4 1
W\

pit2 - 32/9




Saliows Ol

Salioww W¥sleo J> B
S sw oslesiwl “solve” Hgiws 5l wVsles J=> Sly v
135S oslaiwl Ulgi (s JSLi 95 @ solve jgiws 5l Vv

g SOIVe Hgiws UlegS )l s (string) aii, wygas asleo whgail 55 (syms ;1 aslaiwl we (wll v/
:Jlo f3g.0 5w

> A = golve("'x"2-2%x—-4=0")

5M(1/2) + 1
1 - 54(1/2)
I> alsles Guuw 030wyl SYMS Jowgi LU jusio 1ol whgail 5> syms 5l eslaiwl U (o v
iﬁc 95> 3l WL aS cowl ol JSoi ul > ppo ST 39 s 3)lg Sudioaw WHgas SOIVE Hgiws
>> syms x 5,S oslawl Sqluuwo

> A = golve (x"Z2-2%x—4==0)

s~ (1/2) + 1

1 - 5%(1/2)
.\



Saliows Ol

Sulioww Wisles J> ™

IRV L5|)J owl  Sudioow ubl.;&: (RY W) Sadonw u|)9.u.ub Jo_wgJ 0w qu)l Sla a_wl.) s v
LJLA.O )9.&.&) S\O ODLQ.A_UJl “dOUble” Pl VEVTA) )l SHIAC )JDLQ.D =0 &S.}.LA.Q_UJ ul)LuS:

FF BYINE H
> b = golve(x"Z2-2%x—4==0)

L =
m

>> double (&)

ans =



Suluioaw WVsleo J> ™

solve sgiws UlogS,l 55 (sicwwl 1) ,hais g0 i 0 usiodi> WVsles J> Sly 1ass v

Aolos J> YV o> ) o5 adsles 1dlio
x—In(y) =1
>> solve('2*x-log(y)=1","v")
ang —

exp(2%x — 1)




xX+2y=7
X—Yy =
>> [x yl=solve ('x+2%y=T7", "x-y=1")

Solcoww O lowlxo

Jop=xo Li> 9 Aol x> oSiLwy J> ™

5900
AsS J> 1) oouw 03ls wVsleo oKiws tdlie v
(x+y+z=6
<x—ﬁ+lz=7
kx+y—z=0
>> 8 = gsolve('xt+tytz=6", "x-y"*2+2%z=T", "mt+y-=z=0");
>>»> 8 = [B.x B.y 8.=z]
E =
[ 2, 1, 3]

[ 5: _2: 3‘]



ezplot )giww> ™

oS wlaixe ) Sduoow &ilgi 9 WVsleo wlhile 2D puwyy Cp> Hgiwd ol 5l v
w5 gy Heiowd il s lw i (s o laiwl

ezplot(f) > SNk [F2 m2a] o it b s fgb e, s

ZDIOH(, X i Ximosd) > i K] o3l o F 5
ezPIot(f, [Xmin-Xmax:YminYmaxl) > [YoninYmax] 9 KininXiasd 036 o £ b g 3
ezplot(x,y) > 0.2 7] yo atm05k 0 Y(E) o X(F) ol giovia iger, 5

eZp|Of(X,y, [imin'tmax]) > [tmin'tmax] ".:’l? 2 Y(t) 9 X(t) (Sl'b ST \‘ﬁ*’r’“



o &bl

ezplot )giuw>
DS pow | oouw ool gilgi (sui=io 1dlio v

» f(x,y) =sin(x + y).sin(xy)

x = tsin(5t)
y = tcos(5t)



ezplot jgiuw> ™

»erf(x) ; —wm<x<m

FF 3yms x i
>> ezplot(erf(x), [-pi,p1]) | | | |




ezplot )giuw> ™

> xt=yt

FF gyms H Y
>>» ezplot (x"2==y"4)




ezplot giuw> ™

» f(x,y) =sin(x + y).sin(xy)

-

>>» ezplot('=in(x+y) *sin(x*y)=0") 6F

sin(x+y) sin(x y)=0




ezplot jgiuw> ™

Xx=tsin(5t), y =1t cos(bt)

. E— I I I I 1 I 1 i
s 1x= tsin(5t)
y = tcos(5t)
4 - i

FF 3yms t©
>» x = t¥*=in(5*t) ;
>» y = t*cos(5*t); 2 )
>» ezplot (x, vy)




) (o9

A9l cow 1) 5y Siboow gilgi Jols =

f(O) = (3 +3t2+5t—9)"° ; f'(t) =? jxln(x)dx

. , dx
f(s,t) =¢€ /sin(st) ; f(s) =? sz — Ax

im (t tan 2x 3
fgﬁ,( - ) flx,y) = x>y* +4x%y?> - 3xy+1 ; f"(x) =? J Vx + 1dx
1




V o3

..L_J_)ST Cowdy X=1/2 9 X=mn/4 0>9)>0 > |) ) Sld (suzio UM )OO0 >lbuo =

{y = sin(x)
y = cos(x)




Voo ped

Alos J=> 1) 15 095> az)> Suyiol)l asles aS aungiy S)gws =

ax’?+bx+c=0
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